Ne ApTUKYn HanmeHoBaHue Kon
1 Kpbiwka 2
2 LWanba 2
3 |KC21-22 LWaiba 1
4 |KCD24-06 KpoHwTenH 1
5 Malika 5
6 bont M8x20 2
7 |KCD24-07 Pyuka 1
8 |KCD26-05 PykoaTKa 1
9 |KC55-29 WnanHT 1
10 Bont M10x25 1
11 [KCD24-14 TAara 1
12 Bont M10x25 2
13 Bont M10x45 2
14 |KC30A-05-4 Tpocuk pednektopa 1
15 BMHT M6x16 2
16 LWaiba 2
17 [KCD24-08 KoXKyx pemHsa 1
18 |KCD24-09 LedneKkrop 1
19 [KC55-24 JlonaTKa 1
20 bont M8x20 3
21 |[KCD24-13 OcHoBaHue gednektopa 1
22 BuHT M6x20 6
23 Malika 6
24 |KCD24-10 dukcatop 3
25 Bont 5/16-24x19 2
26 |KC30A-07B OrpaHuunTeNb PEMHA 1
27 |ALXA822E PemeHb 4LXA822E 1
28 BuHT M8x16 6
29 LWaiba 2

Moaenb
CHeroy6opLuk ST7067

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




17 |[KCD24-03-05

Pblyar aedpnektopa

18 laMka

19 |KC30-03(M1)-2 |PyKoATKa

20 |[KC55-03-05-6 BTynka

21 |KCD24-03-06 Pbiyar xopna
22 |KC55-03-04A Mpy*nHa

23 bont M8x120
24 |KCD24-03-07 Pblyar

Ne ApTUKYn HanmeHoBaHue Kon
1 |KCD21-03-01 PyyKa HMXHAA 1
2 Maika 9
3 LWanba 7
4 |KCD21-03-02A  |Py4yka neBas 1
5 |KCD24-03-01 KpoHwTenH 1
6 bont M8x45 5
7 LWanba 2
8 bont M8x40 3
9 |KC21-03C-08 Lainba 2
10 [KC21-03C-2 bont 2
11 |KCD24-03-03 Pblyar 1
12 [KC21-03C-05 PykoATka 2
13 Malika 3
14 |[KC21-03C-1A Tpocuk 2
15 WnanHT 4
16 |[KCD24-03-04A |MNaHenb 1
1
2
2
2
1
1
1
1
1

25 [KCD21-03-04A

PyyKa npaBasn

CHeroy6opLuk

Moaenb

ST7067

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 2




Ne ApTUKYn HanmeHoBaHue Kon
1 bont M8x16 6
2 Konbuo ctonopHoe 2
3 |KCD24-01-01 LWaiba 6
4 |KCD24-01-02 MoawnnHuk 2
5 |KCD24-01-03 Kopnyc noawmnHumka 2
6 |KCD24-01-04 BTynka 8
7 |KCD24-01-05 LWanba 4
8 |KCD24-01-06 LLIHeK neBbIit 2
9 |KC55-29 Wnanut 4
10 |[KC21-01-03 bonT cpesHom 4
11 |[KCD24-01-07 Pepyktop 1
12 [KCD24-01B-08 |Ban 1
13 |KCD24-01-09 LLIHeKk npasbIit 2
17 |[KCD26-01-02D |KpblabyaTtka 1
18 |[KCD24-01B-12 MnactnHa aekn 1
19 Malika 12
20 bont M8x16 4
21 bont M8x20 8
22 |KC26-01-02 MNonosok 2
23 LWaliba 8
24 |KCD24-01-10 OcHoBaHue gednektopa 1
25 |SB204 MogwwnnHuk SB204 1
26 |KC55-01-22 KpbiwKa 1
27 Malika 3
28 LLinoHKa 6x6x20 1
29 |KCD24-01-13 LWkme 1
30 |KCD24-01-15 LWanba 1
31 Bont M10x25 1
32 |[KC55-01-21 L[ep»aTenb 1oNaTkM 1
34 |KCD24-01B-11 |Odeka 1
35 |[KCD24-01-14 LWaiba 2
Moaenb
CHeroy6opLuk ST7067

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYn HanmeHoBaHue Kon
1 Malika 1
2 |KCM24-02C-19 |KpoHwTeiH 1
3 BuHT M6%x12 4
4 |KC21-02C-01 TpocuK 1
5 |KC40-28 Ponuk 1
6 |[KC21-02-02 BTynka 1
7 bont M6x20 1
8 |KCD21-02-01A |Kopnyc 1
9 BMHT M6x16 8
10 |KC21-02C-03 OcHoBaHWe gsuratens 1
11 lanka 4
12 [Buratens G210FS 1
13 |3LXP825 PemeHb 3LXP825 1
14 [KC55-02-17C LLIKMB BeAyLLNiA 1
15 [KC55-02-16 LWWKnB BeayLwmni 1
16 LinoHKa 4.7x4.7x50 1
17 |KC21-02C-05 LWaliba 2
18 LWaliba 1
19 bont M8x30 1
20 bont M8x40 4
21 [KCL21-02C-18 LWaliba 4
22 LWalba 1
23 |KC21-02-05 MnactnHa 1
24 bont M6x20 2
25 |KC21-02-06A HaKoHe4YHMK 1
26 Bont M8x20 3
27 |KC21-02-34 LWalba 1
28 [KC90-02-07 BTynka 3
29 [KC55-02-05 Tara 1
30 |KC90-02-11 Kopnyc nogwmnHumka 2
31 Malika 3

CHeroy6opLuk

Moaenb

ST7067

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




Ne ApTUKYn HanmeHoBaHue Kon
32 |6304 NogwunnHmk 6304 2
33 |KC21-02C-06C  [Ban 1
34 Wrnot 1
35 LWWnoHKa 6x6x22 1
36 [KC21-02C-07 LWectepHa 1
37 |KC21-02C-08 BTynka 1
38 Konbuo ctonopHoe 1
39 bont M6x16 14
40 |KC21-02-33 Kopnyc nogwmnHmka 2
41 [6000-ZN MoawwnnHuk 6000-ZN 2
42 |KC21-02-24 Ban wecTurpaHHbIi 1
43 KonbLo ctonopHoe 1
44 |KC21-02-13 MoawnnHUK B KOpnyce 1
45 |KC21-02-12B [epKatenb AUCKa 1
46 |[KC21-02-11A LMCK GPUKLMOHHDBIN 1
47 |KC21-02-25 LectepHa 1
48 |KC55-02-21 Ponuk 1
49 |KC55-02-21A Ponuk 1
50 Bont M8x30 1
51 bont M8x30 1
52 |[KC30A-02-31 HakoHeuHuK 1
53 LWalba 1
54 |KC21-02C-09 dukcartop 1
55 |KC21-02C-10 KpoHwTenH 1
56 |KC21-02C-11A  |Pblyar 1
57 |KC90-02-15 MpyXKnHa 1
58 |KC21-02C-12 MpyXunHa 1
59 |KC21-02C-13 LWkme 1
60 |KC90-02-12 Kopnyc nogwmnHmka 2
61 [90-0430 MogwnnHmk 6002 2
62 bont M8x16 2
Moaenb
CHeroy6opLuk ST7067

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 5




Ne ApTUKYn HanmeHoBaHue Kon
63 |KC90-02-31 Ocb 1
64 |KC55-02-10 BTynka 2
65 WnanHT 1
66 |[KC21-02C-14 KpoHwTenH 1
67 |KC21-02C-17 MpyXuHa 1
68 |KC21-02C-15 KpOHLWTENH WKMBa 1
69 Maika 1
70 BUHT M6x16 4
71 |KC30A-02-30 Ocb 2
72 |KC21-02C-16B KpbiwKa 1
73 Koneco 14" 2
74 |KCW-03 WtndT 6%x40 2

Moaenb

CHeroy6opLuk ST7067

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 6




Ne ApTUKYn HanmeHoBaHue Kon
1 [KCD24-09-01 Oednexktop 1
2 |KC30A-05-4 TpocuK 1
3 |KC30A-05-3 TAara 1
4 LWanba 1
5 |KC30A-05-2 MpyxunHa 1
6 |KCD24-09-02 MNetna 1
7 |KCD24-09-03 Kosbipek 1
8 BHT M6x16 1
9 Lainba 1

10 Marika 1

Moaenb
CHeroy6opLuk ST7067

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 7




